Name ____________________
12.1 Where did services originate?
A. Types of Services
a. The service sector is divided ______________________________________________________________
b. Within the group ______________________________________________________________________
c. 2/5th of these _________________________________________________________________________
d. Producer services_______________________________________________________________________
e. ½ (business)___________________________________________________________________________
f. ½ (transportation)______________________________________________________________________
g. 10 % _________________________________________________________________________________
h. Growth in employment _________________________________________________________________
i. Within the service _____________________________________________________________________
j. The personal service ____________________________________________________________________
k. Within retail __________________________________________________________________________
B. Origins of Service
a. No one _______________________________________________________________________________
b. Settlements probably ___________________________________________________________________
c. Until the invention _____________________________________________________________________
d. The education _________________________________________________________________________
e. Public services ________________________________________________________________________
f. Although modern ______________________________________________________________________
g. People brought ________________________________________________________________________
h. The settlement ________________________________________________________________________
i. To facilitate ___________________________________________________________________________
C. Services  in Rural Settlements 
a. Clustered_____________________________________________________________________________
b. Dispersed ____________________________________________________________________________
c. Clustered typically _____________________________________________________________________
d. Homes, public buildings__________________________________________________________________
e. The kraal _____________________________________________________________________________
f. German Gewandorf ____________________________________________________________________
g. Long lot ______________________________________________________________________________
h. Long lot system________________________________________________________________________
i. New England colonists___________________________________________________________________
j. New England settlements ________________________________________________________________
k. The settlement’s leader _________________________________________________________________
l. Many New England towns________________________________________________________________
m. More common ________________________________________________________________________
n. The Middle Atlantic colonies _____________________________________________________________
o. Land was ____________________________________________________________________________
p. In part, ______________________________________________________________________________
q. They permitted _______________________________________________________________________
r. The British govt _______________________________________________________________________
s. The benefit ___________________________________________________________________________
t. Village _______________________________________________________________________________
Name _________________________
12.2 Why are consumer services distributed in a regular pattern?
A. Central Place Theory
a. So called _____________________________________________________________________________
b. CPT was 1st ___________________________________________________________________________
c. The theory applies _____________________________________________________________________
d. A market area _________________________________________________________________________
e. People on the circumference _____________________________________________________________
f. Therefore, market areas _________________________________________________________________
g. Therefore to represent __________________________________________________________________
h. Geographers need _____________________________________________________________________
i. People are willing ______________________________________________________________________
j. But they ______________________________________________________________________________
k. The range must be______________________________________________________________________
l. To determine the range _________________________________________________________________
m. Census data ___________________________________________________________________________
B. Market area analysis
a. Retailers and service____________________________________________________________________
b. However _____________________________________________________________________________
c. The best location ______________________________________________________________________
d. 1st, the greater ________________________________________________________________________
e. 2nd __________________________________________________________________________________
C. Hierarchy of Services and Settlements 
a. A large dept store ______________________________________________________________________
b. We travel _____________________________________________________________________________
c. In his original study _____________________________________________________________________ 
d. 7 sizes________________________________________________________________________________
e. The distribution of settlements ___________________________________________________________
f. If the settlement _______________________________________________________________________
g. Paris _________________________________________________________________________________
h. Many LDCs____________________________________________________________________________
i. The existence__________________________________________________________________________
j. It has real ____________________________________________________________________________
k. The absence___________________________________________________________________________
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